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Beat Smoking Triggers: Person x Integration x Tailoring x Intensity

arml: ———-—

20-
10-

>

armb: —+——
20-
10-
€ 0- —
()
o arm9; +——-
()
o
20-
10- .
0 -
armi3: ++--
20~
10- .
0- x =

0.0 0.2 0.4

SRR T

0600

arm2; ———+

arm6: —+—+

.

arm10: +—+

A

arml4: ++—+

F

02

arm3; ——+-—

arm7: —++—

F .

armll: +—+-

A

arm15: +++—

-

04 0600
Mean Outcome

02

0.4

06 0.0

arm4: ——++

p

arm8: —+++

>

arml2: +—++

p

arml6:; ++++

4

0.2 0.4

0.6



Percent

Visit Community: Person x Integration x Tailoring x Intensity

arml: -———- arm2: -———+ arm3: ——+-— arm4: ——++
15-
10-
5 -
0- — 4
arms: —+—— armeé: —+—+ arm7: —++-—
15-
10-
5 -
0- |
arm9: +——— arm10: +——+ armil: +—+- armi2: +—++
15-
10-
5-
0 -
armi3: ++-- arml4: ++-+ armis: +++- armie6: ++++
15-
10-
5 -
04 . C . . PR . . . . . . R
00 02 04 06 00 02 04 06 00 02 04 06 00 02 04 06

Mean Outcome



